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Read, this number
What is the value of the digit 37
Multiply this number by 10
What is 0.2 less?






Whatis 5/10
as a decimal?
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forty hundredths

2 0.7

100 There are several possible answers. Here is one that is

based on the type of decimals that each value represents:

The fraction 25/100 is the odd one out because all the
other values can be written as a fraction with 10 as the
denominator (tenths) and as a decimal with only 1
decimal place. 25/100 is written as 0.25.
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Tens
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Tens Ones Tenths | Hundredths

0 0 6




Chloe has beern asked to- model 22 hundredths using digit cards
and’ o place~value grid.

Shesa%&, “T cant do this because 1 com’tpubmor\e/’dﬂamom

digib'wa/colum"
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hundredths
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hundredths
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Tenths
and 0.14




T wills know how to- divide two- digi by
0
We. do
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7a. Using all the digit cards and the place
value chart, make three different
numbers greater than four.
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Ones ‘ Tenths Hundredths

What is the biggest number you can
make?
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Plenary

5b. Paul is using a place value chart and
three counters to make different numbers.

Paul says,

~
If | use all the counters,
the smallest number
i | can make that

includes 1 whole is 1'2;

Is he correct? Explain how you know.



